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[ RHT R 2,833 1,392| 1,441 1,069 (R T2 1 1,938 980 958 706 (BRI =3 ] 542 287 255 220
CH BT R 829 396 433 382 TR T B 2,483 1,268] 1,215 1,137 LR T BLAR) 1] 505 256 249 216
[ 4emT 2 B 812 395 417 341 PRIFHTRER 1T B 536 244 292 298 [BIRgHT] 2,938 1,485| 1,453 1,207
CHERmT /N 2R 975 476 499 428 BRIERTEE R 2T A 567 264 303 222 (R HLHT ] 1,403 716 687 661
FRYRITY 5L PEIFITBR 3T H 154 85 69 71 KT LT 1,942 956 986 744
R R 1T H 281 135 146 124 PRIERTEERAT A 280 134 146 110 REHTRET1IT H 166 89 77 80
FRARITY R 2T B 261 120 141 111 RIFHTFERS T B 615 338 277 323 RERTIEET2T H 188 108 80 91
HRETY R 3T H 259 128 131 100 PRIERTEER 6T A 248 112 136 95 REHTARET3 T H 130 74 56 60
FRRITY R feA T B 122 60 62 55 (RS T i ] 4,883 2,445 2,438 2,256 KERTIERTAT H 289 150 139 157
HRETY R 5T H 245 113 132 105 IUIEN [RHET ALHT] 2,715 1,377 1,338 1,132
FRARITY R 6T B 246 116 130 110 BRIFHT AT 1] B 106 53 53 51 KT = T
HRETY R 7T A 147 73 74 63 BRIERTART2T A 93 46 47 43 KB HH1 T B 193 79 114 56
FRARITY R 8T H 284 141 143 128 BRIFHT A3 H 95 58 37 53 KT Hif2 T H 261 133 128 87
HRETY R 9T H 138 72 66 60 BRIFHTARTAT H 44 23 21 14 KERT 5~ H3T B 149 74 75 64
HRHRETY L 10T B 226 111 115 101 [ JFr T AR HT ] 338 180 158 161 [T == T 603 286 317 207
[T W, 2 B ] 2,209| 1,069| 1,140 957 [&)mT] 11,266 5,620| 5,646 4,767 [ REEmT] 4,721 2,379 2,342| 2,000
[T B ] 1,435 711 724 537 ()11 /T F135 ] 572 300 272 232 LR ] 1,887 917 970 780
(kT B A ] 1,157 575 582 490 () [HT Fp 3] 900 427 473 374 [FEmT] 1,887 917 970 780
LRI R 3 ] 1,653 842 811 601 ()1 [T T 4H ] 305 154 151 118 LBEAHT/N11] 37 17 20 17
[T i ] 1,476 724 752 616 EFNLEN 947 481 466 345 [ BEAHT 2 ] 51 28 23 25
[ 4T ] 13,379| 6,580| 6,799 5,421 ()1 BT /e ] 205 104 101 82 [BEAHT £ ] 632 313 319 273
RS T P 7 ] 115 63 52 44 ()[BT _F/ )N ] 352 171 181 158 [RAAMT )\ ] 201 96 105 94
CRAE T R 1,451 707 744 591 () 10T /NG ] 723 364 359 309 [BEAHT B A | ] 684 345 339 265
RS T A I 1,377 662 715 542 ()11 m7 4 ] 106 52 54 43 [RAAMT & H ] 866 415 451 167
CRAEJENT 1= E ] 1,164 583 581 467 [3E)11mT] 4,110 2,053| 2,057 1,661 [BIAHT B AR ] 941 454 487 355
B HT & 1,262 636 626 467 (RArgmT#h N | ] 977 489 488 423 [ BEZHT] 3,412 1,668| 1,744 1,196
BREFITE 1 T B 466 228 238 159 (RArEIT 40 ] T 580 281 299 228
BT S H2 T B 210 116 94 80 [RArEMTRIA T ] 334 172 162 120 AEF 41,713| 20,702| 21,011 17,032




